
Rhino� SD2/XD2�VE
������

� 2012 Nordson Corporation P/N 7560467A-03
- Chinese -

��  

���1。Rhino SD2/XD2�VE���������	

5、30�55
��
�������
�������
�������。��，�����	
�����
�
����。����������� !：��、�#�
�!��"
�����$#���%
$#�$�#&
���
��'()$。��%��������*&+

,-./01���234��。

��  

(567$，8'9()*+:;,%<2=>.�9(
)*8*?@。������7$*�AB��9:CD
;�：

� Rhino SD2/XD27$*（F2GH）。

� Rhino VE7$*（F18GH）。

� 1 =�������



Rhino SD2/XD2�VE������2

P/N 7560467A-03
- Chinese -

� 2012 Nordson Corporation

	
��
���  

8>��2���7$*。

7

5

6

5

8

1

4

3

3

29

7

42J:
�#&
%
KL

82J:

MN
OP

�#&
MN
OP

Q

)$

48.5J:
�$#��
�R�@%
KL
%SP

� 2 ����,-������

�� P/N �� �	

— 1071082 Module Interconnect hose, small frame, fire resistant 1

1 1045604 � Ell, male, 37, 1/2‐20 x 3/8 NPT 1

2 329830 � Connector, female, 1/4 hose , 1/2‐20 barbed 2

3 1010773 � Hose, 1/4 ID, fire resistant, blue, Push‐Lok 10.9 ft

4 1045607 � Clamp, hose, 0.50 OD, cushion 1

5 124795 � Fitting, hose, 3/4 barbed x 11/16 2

6 145240 � Hose, 0.75 I.D., fire resistant, blue 3.5 ft

7 329829 � Connector, female, 1/4 hose, 7/16‐20 barbed 2

8 324289 � Strap, cable, 0.06-4.00, black 6

9 900481 � Adhesive, pipe AR

AR： As Required：TU(



Rhino SD2/XD2�VE������ 3

� 2012 Nordson Corporation P/N 7560467A-03
- Chinese -

	
������  

8>��3���7$*。

3

9

6
7

8
9

7

6

10

1

3

4

2

5

4

11

3

42J:
�#&
%
KL

82J:

MN
OP

�#&
MN
OP

Q

)$

48.5J:
�$#��
�R�@%
KL
%SP

� 3 ����34��

�� P/N �� �	

— 1071072 Module Interconnect hose, small frame, black 1

1 1045604 � Ell, male, 37, 1/2‐20 x 3/8 NPT 1

2 329830 � Connector,  female, 1/4 hose, 1/2‐20 barbed 2

3 1004375 � Clamp, hose, 9/16, crimp, double ear 4

4 805652 � Hose, air 1/4 I.D. 10.9 ft

5 1045607 � Clamp, hose, 0.50 O.D., cushion 1

6 124795 � Fitting, hose, 3/4 barbed x 11/16 2

7 1004377 � Clamp, hose, 1.125, crimp, double ear 2

8 124792 � Hose, 0.75 I.D., 200 psi 3.5 ft

9 329829 � Connector,  female, 1/4 hose, 7/16‐20 barbed 2

10 324289 � Strap, cable, 0.06-4.00, black 6

11 900481 � Adhesive, pipe AR

AR： As Required：TU(



Rhino SD2/XD2�VE������4

P/N 7560467A-03
- Chinese -

� 2012 Nordson Corporation

5/30���
��
���  

8>��4���7$*。

4

3

2

1

2

9

3

7

8

6

5

5

64J:

Q

)$

57.5J:

98J:

� 4 5/30
�����,-��

�� P/N �� �	

— 1071073 Module Interconnect hose, large frame, 5/30, fire resistant 1

1 1045604 � Ell, male, 37, 1/2‐20 x 3/8 NPT 1

2 329830 � Connector, female, 1/4 hose, 1/2‐20 barbed 2

3 1010773 � Hose, 1/4 ID, fire resistant, blue, Push‐Lok 13.5 ft

4 1045607 � Clamp, hose, 0.50 OD, cushion 1

5 124795 � Fitting, hose, 3/4 barbed x 11/16 2

6 329829 � Connector, female, 1/4 hose, 7/16‐20 barbed 2

7 145240 � Hose, 0.75 I.D., fire resistant, blue 4.8 ft

8 324289 � Strap, cable, 0.06-4.00, black 10

9 900481 � Adhesive, pipe AR

AR： As Required：TU(



Rhino SD2/XD2�VE������ 5

� 2012 Nordson Corporation P/N 7560467A-03
- Chinese -

5/30���
������  

8>��5���7$*。

5

4

2

1

2

11

4

9

10

8

6

6

3

3

3

3

7

7

64J:

Q

)$

57.5J:

98J:

� 5 5/30
�����34��

�� P/N �� �	

— 1071074 Module Interconnect hose, large frame, 5/30 black 1

1 1045604 � Ell, male, 37, 1/2‐20 x 3/8 NPT 1

2 329830 � Connector,  female, 1/4 hose, 1/2‐20 barbed 2

3 1004375 � Clamp, hose, 9/16, crimp, double ear 4

4 805652 � Hose, air 1/4 I.D. 13.5 ft

5 1045607 � Clamp, hose, 0.50 O.D., cushion 1

6 124795 � Fitting, hose, 3/4 barb x 11/16 2

7 1004377 � Clamp, hose, 1.125, crimp, double ear 2

8 329829 � Connector, female, 1/4 hose, 7/16‐20 barbed 2

9 124792 � Hose, 0.75 I.D., 200 psi 4.8 ft

10 324289 � Strap, cable, 0.06-4.00, black 10

11 900481 � Adhesive, pipe AR

AR： As Required：TU(



Rhino SD2/XD2�VE������6

P/N 7560467A-03
- Chinese -

� 2012 Nordson Corporation

�������
5/30���
��
���  

8>��6��7，�!F7G��7$*。

1

2

3

2

4

12

2

3

6

5

7

5

9

3

3

6

6

64J:

Q

)$

57.5J:

98J:

114J:
�#&
��
PFV

118J:
�#&
��
PGH

� 6 	
�����5/30
�����,-��



Rhino SD2/XD2�VE������ 7

� 2012 Nordson Corporation P/N 7560467A-03
- Chinese -

11

10

8

62

4

GH FV

��
PFV

��
PGH

� 7 	
�����5/30
�����,-��（�）

�� P/N �� �	

— 1071075 Module Interconnect hose, large frame, with depressurization, 5/30, fire resistant 1

1 1045604 � Ell,male, 37, 1/2‐20 x 3/8 NPT 1

2 329830 � Connector,  female, 1/4 hose, 1/2‐20 barbed 4

3 1010773 � Hose, 1/4 I.D., fire resistant, blue, Push-Lok 32.9 ft

4 1045607 � Clamp, hose, 0.50 O.D., cushion 3

5 124795 � Fitting, hose, 3/4 barbed x 11/16 2

6 329829 � Connector, female, 1/4 hose, 7/16‐20 barbed 4

7 145240 � Hose, 0.75 I.D., fire resist, blue 4.8 ft

8 282785 � Clamp, 11/2 I.D. 1

9 324289 � Strap, cable, 0.06-4.00, black 10

10 981647 � Screw, socket, 1/4‐20 x 2.5 2

11 983141 � Washer, lock, e, internal, 1/4 2

12 900481 � Adhesive, pipe AR

AR： As Required：TU(



Rhino SD2/XD2�VE������8

P/N 7560467A-03
- Chinese -

� 2012 Nordson Corporation

�������
5/30���
������  

8>��8��9，�!�W7$*。

1

2

4

2

5

14

2

4

8

6

9

6

11

4

4

8

8

3

7

3

3

3

7

64J:

Q

)$

57.5J:

98J:

114J:
�#&
��
PFV

118J:
�#&
��
PGH

� 8 	
�����5/30
�����34��



Rhino SD2/XD2�VE������ 9

� 2012 Nordson Corporation P/N 7560467A-03
- Chinese -

13

12

10
5

3

8

2

GH FV

��
PFV

��
PGH

� 9 	
�����5/30
�����34��（�）

�� P/N �� �	

— 1071076 Module Interconnect hose, large frame, with depressurization, 5/30, black 1

1 1045604 � Ell,male, 37, 1/2‐20 x 3/8 NPT 1

2 329830 � Connector,  female, 1/4hose, 1/2‐20 barbed 4

3 1004375 � Clamp, hose, 9/16, crimp, double ear 8

4 805652 � Hose, air 1/4 I.D. 32.9 ft

5 1045607 � Clamp, hose, 0.50 O.D., cushion 3

6 124795 � Fitting, hose, 3/4 barbed x 11/16 2

7 1004377 � Clamp, hose, 1.125, crimp, double ear 2

8 329829 � Connector, female, 1/4 hose, 7/16‐20 barbed 4

9 124792 � Hose, 0.75 I.D., 200 PSI 4.8 ft

10 282785 � Clamp, 11/2 I.D. 1

11 324289 � Strap, cable, 0.06-4.00, black 10

12 981647 � Screw, socket, 1/4‐20 x 2.5 2

13 983141 � Washer, lock, e, internal, 1/4 2

14 900481 � Adhesive, pipe AR

AR： As Required：TU(



Rhino SD2/XD2�VE������10

P/N 7560467A-03
- Chinese -

� 2012 Nordson Corporation

55���
��

���  

8>��10���7$*。

3

2

1

4

10

2

7

6

6

5

8

5

9

Q

)$

64J:

57.5J:

98J:

� 10 55
�����,-��

�� P/N �� �	

— 1071077 Module Interconnect hose, large frame, 55‐gallon, fire resistant 1

1 972658 � Ell, male, 37, 9/16‐18 x 3/8 1

2 1045647 � Connector, female, barbed, 3/8 t, 9/16‐18, brass 2

3 1045606 � Hose, 3/8 I.D., fire resistant, blue, Push-Lok 8.2 ft

4 1045608 � Clamp, hose, 5/8 O.D, cushion 1

5 124795 � Fitting, hose, 3/4 barbed x 11/16 2

6 329829 � Connector, female, 1/4 hose, 7/16‐20 barbed 2

7 1010773 � Hose, 1/4 I.D., fire resistant, blue, Push-Lok 5.4 ft

8 145240 � Hose, 0.75 I.D., fire resist, blue 4.8 ft

9 324289 � Strap, cable, 0.06-4.00, black 10

10 900481 � Adhesive, pipe AR

AR： As Required：TU(



Rhino SD2/XD2�VE������ 11

� 2012 Nordson Corporation P/N 7560467A-03
- Chinese -

55���
��
��
���  

8>��11��W7$*。

3

1

2
10

5

6
10

4
78

9
73J:

51.5J:

96J:

� 11 55
�����X4,-��

�� P/N �� �	

— 1082262 Module, hose, XD2, large frame, G‐port 1

1 1082097 � Tubing, 6 mm, flame resistant, green polyethylene 6.1 ft

2 1082263 � Connector, male, 3/8, hose R 1/4 BSPT, barb 1

3 1045605 � Hose, air, 3/8 ID x 5/8 OD, 300 psi 8 ft

4 324289 � Strap, cable, 0.06-4, black 10

5 1045647 � Connector, female, barbed, 3/8 T, 9/16-18, brass 1

6 972852 � Connector, male, 3/4 hose, 3/4 NPT, barb 1

7 124795 � Fitting, hose, 3/4 barb x 11/16 1

8 124792 � Hose, 0.75 ID, 200 psi 4.3 ft

9 1043385 � Clamp, hose, 0.31 OD, cushion AR

10 900481 � Adhesive, pipe AR

AR： As Required：TU(



Rhino SD2/XD2�VE������12

P/N 7560467A-03
- Chinese -

� 2012 Nordson Corporation

55���
������  

8>��12���7$*。

4

2

1

5

13

3

3 7

6

12

2

10

9

9

8

8

11

7

6

64J:

Q

)$

57.5J:

98J:

� 12 55
�����34��

�� P/N �� �	

— 1071078 Module Interconnect hose, large frame, 55‐gallon, black 1

1 972658 � Ell, male, 37, 9/16‐18 x 3/8 1

2 1045647 � Connector, female, barbed, 3/8 t, 9/16‐18, brass 2

3 1045321 � Clamp , hose, 5/8 crimp, double ear 2

4 1045605 � Hose, air, 3/8 I.D. x 5/8 O.D., 300 psi 8.2 ft

5 1045608 � Clamp, hose, 5/8 O.D., cushion 1

6 124795 � Fitting, hose, 3/4 barbed x 11/16 2

7 1004377 � Clamp, hose, 1.125, crimp, double ear 2

8 329829 � Connector, female, 1/4 hose, 7/16‐20 barbed 2

9 1004375 � Clamp, hose, 9/16, crimp, double ear 2

10 805652 � Hose, air 1/4 I.D. 5.4 ft

11 124792 � Hose, 0.75 I.D., 200 psi 4.8 ft

12 324289 � Strap, cable, 0.06-4.00, black 10

13 900481 � Adhesive, pipe AR

AR： As Required：TU(



Rhino SD2/XD2�VE������ 13

� 2012 Nordson Corporation P/N 7560467A-03
- Chinese -


�：



Rhino SD2/XD2�VE������14

P/N 7560467A-03
- Chinese -

� 2012 Nordson Corporation

�������55���
��
���  

8>��13��14，�!�W7$*。

1

2

3

2

4

15

10

7

6

5

8

5

11

7

7

6

6

64J:

Q

)$

57.5J:

98J:

114J:
�#&
��
PFV

118J:
�#&
��
PGH

� 13 55
�����34��



Rhino SD2/XD2�VE������ 15

� 2012 Nordson Corporation P/N 7560467A-03
- Chinese -

13

12

9

610

14

GH FV

��
PFV

��
PGH

� 14 55
�����34��（�）

�� P/N �� �	

— 1071079 Module Interconnect hose, large frame, with depressurization, 55‐Gallon Fire Resistant 1

1 972658 � Ell, male, 37, 9/16‐18 x 3/8 1

2 1045647 � Connector, female, barbed, 3/8 t, 9/16‐18, brass 2

3 1045606 � Hose, 3/8 I.D., fire resistant, blue, Push‐Lok 8.2 ft

4 1045608 � Clamp, hose, 5/8 O.D., cushion 1

5 124795 � Fitting, hose, 3/4 barbed x 11/16 2

6 329829 � Connector, female, 1/4hose, 7/16‐20 barbed 4

7 1010773 � Hose, 1/4 I.D., fire resistant, blue, Push‐Lok 24.7 ft

8 145240 � Hose, 0.75 I.D., fire resist, blue 4.8 ft

9 282785 � Clamp, 11/2 I.D. 1

10 329830 � Connector, female, 1/4 hose, 1/2‐20 barbed 2

11 324289 � Strap, cable, 0.06-4.00, black 10

12 981647 � Screw, socket, 1/4‐20 x 2.5 2

13 983141 � Washer, lock, e, internal, 1/4 2

14 1045607 � Clamp, hose, 0.50 O.D., cushion 2

15 900481 � Adhesive, pipe AR

AR： As Required：TU(



Rhino SD2/XD2�VE������16

P/N 7560467A-03
- Chinese -

� 2012 Nordson Corporation

�������55���
������  

8>��15��16，�!�W7$*。

1

2

4

2

5

18

13

10

8

6

11

6

14

10

10

8

8

9

7

3

3

9

9

7

64J:

57.5J:

98J:

114J:
�#&
��
PFV

118J:
�#&
��
PGH

� 15 	
�����55
�����34��



Rhino SD2/XD2�VE������ 17

� 2012 Nordson Corporation P/N 7560467A-03
- Chinese -

16

15

12
17

9

8

13

GH FV

��
PFV

��
PGH

� 16 	
�����55
�����34��（�）

�� P/N �� �	

— 1071080 Module interconnect hose, large frame, with depressurization, 55‐gallon black 1

1 972658 � Ell, male, 37, 9/16‐18 x 3/8 1

2 1045647 � Connector, female, barbed, 3/8 t, 9/16‐18, brass 2

3 1045321 � Clamp, hose, 5/8 crimp, double ear 2

4 1045605 � Hose, air, 3/8 I.D. x 5/8 O.D., 300 psi 8.2 ft

5 1045608 � Clamp, hose, 5/8 O.D., cushion 1

6 124795 � Fitting, hose, 3/4 barbed x 11/16 2

7 1004377 � Clamp, hose, 1.125, crimp, double ear 2

8 329829 � Connector, female, 1/4 hose, 7/16‐20 barbed 4

9 1004375 � Clamp, hose, 9/16, crimp, double ear 6

10 805652 � Hose, air 1/4 I.D. 24.7 ft

11 124792 � Hose, 0.75 I.D., 200 psi 4.8 ft

12 282785 � Clamp, 11/2 ID 1

13 329830 � Connector ,female, 1/4 hose, 1/2‐20 barbed 2

14 324289 � Strap, cable, 0.06-4.00, black 10

15 981647 � Screw, socket, 1/4‐20 x 2.5 2

16 983141 � Washer, lock, e, internal,1/4 2

17 1045607 � Clamp, hose, 0.50 OD, cushion 2

18 900481 � Adhesive, pipe AR

AR： As Required：TU(



Rhino SD2/XD2�VE������18

P/N 7560467A-03
- Chinese -

� 2012 Nordson Corporation

VE	
����  
8>��17���7$*。

10

5

6

4

3

1

2

7

8

9

11

11

� 17 Rhino VE������

�� P/N �� �	

— 1072964 Module hose, small frame, VE 1

1 805652 � Hose, air, 1/4 ID 3 ft

2 1073450 � Connector, male 1/4 hose x 1/8 NPT, barbed 1

3 324046 � Hanger, hose 1

4 1073256 � Coupler, disconnect, barb, push lock, 1/4 1

5 972119 � Elbow, male, 1/4 tube x 1/8 NPT 1

6 900571 � Tube, Polyethylene, 1/4 12 ft

7 124792 � Hose, 0.75 I.D., 200 psi 5 ft

8 324289 � Strap, cable, 0.06-4.00, black 5

9 124795 � Fitting, hose, 3/4 barbed x 11/16 1

10 972852 � Connector, male 3/4 hose x 3/4 NPT, barbed 1

11 900481 � Adhesive, pipe AR

AR： As Required：TU(



Rhino SD2/XD2�VE������ 19

� 2012 Nordson Corporation P/N 7560467A-03
- Chinese -

VE	
��CE��  
8>��18���7$*。

10

5

6

4

3

1

2

7
8

11

11

9

� 18 Rhino VE����CE��

�� P/N �� �	

— 1097597 Module hose, small frame, VE 1

1 805652 � Hose, air, 1/4 ID 4 ft

2 1073450 � Connector, male 1/4 hose x 1/8 NPT, barbed 1

3 324046 � Hanger, hose 1

4 1073256 � Coupler, disconnect, barb, push lock, 1/4 1

5 972119 � Elbow, male, 1/4 tube x 1/8 NPT 1

6 900571 � Tube, Polyethylene, 1/4 12 ft

7 124792 � Hose, 0.75 I.D., 200 psi 5 ft

8 324289 � Strap, cable, 0.06-4.00, black 5

9 124795 � Fitting, hose, 3/4 barbed x 11/16 1

10 972852 � Connector, male 3/4 hose x 3/4 NPT, barbed 1

11 900481 � Adhesive, pipe AR

AR： As Required：TU(



Rhino SD2/XD2�VE������20

P/N 7560467A-03
- Chinese -

� 2012 Nordson Corporation

VE�
����  
8>��19���7$*。

10

5

4

3

1

2

7

11

11

9

8

6

� 19 Rhino VE����CE��

�� P/N �� �	

— 1072966 Module hose, large frame, VE 1

1 1045605 � Hose, air, 3/8 ID x 5/8 OD, 300 psi 5.5 ft

2 972893 � Connector, male 3/8 hose x 1/4 NPT, barbed 1

3 324046 � Hanger, hose 1

4 1076422 � Coupler, disconnect, barb, push lock, 3/8 1

5 972119 � Elbow, male, 1/4 tube x 1/8 NPT 1

6 900571 � Tube, Polyethylene, 1/4 12 ft

7 124792 � Hose, 0.75 I.D., 200 psi 5 ft

8 324289 � Strap, cable, 0.06-4.00, black 5

9 124795 � Fitting, hose, 3/4 barbed x 11/16 1

10 972852 � Connector, male 3/4 hose x 3/4 NPT, barbed 1

11 900481 � Adhesive, pipe AR

AR： As Required：TU(



Rhino SD2/XD2�VE������ 21

� 2012 Nordson Corporation P/N 7560467A-03
- Chinese -

VE�
��CE��  
8>��20���7$*。

10

5

4

3

1

2

7

11

11

9

8

6

� 20 Rhino VE����CE��

�� P/N �� �	

— 1097596 Module hose, large frame, VE , CE1

1 1045605 � Hose, air, 3/8 ID x 5/8 OD, 300 psi 5.5 ft

2 972893 � Connector, male 3/8 hose x 1/4 NPT, barbed 1

3 324046 � Hanger, hose 1

4 1076422 � Coupler, disconnect, barb, push lock, 3/8 1

5 972119 � Elbow, male, 1/4 tube x 1/8 NPT 1

6 900571 � Tube, Polyethylene, 1/4 12 ft

7 124792 � Hose, 0.75 I.D., 200 psi 5 ft

8 324289 � Strap, cable, 0.06-4.00, black 5

9 124795 � Fitting, hose, 3/4 barbed x 11/16 1

10 972852 � Connector, male 3/4 hose x 3/4 NPT, barbed 1

11 900481 � Adhesive, pipe AR

AR： As Required：TU(



Rhino SD2/XD2�VE������22

P/N 7560467A-03
- Chinese -

� 2012 Nordson Corporation


�：

IY12/12

JKZL[\] 2007。Nordson、Nordson^_�Rhino�9()*���`MO^。
�Qa
O^b�TUa
。

 - 
����� -




